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Give me 5!ﬂ
1. 312 + 754 = -

2.947-1oo=-
3. 36+3=-

5.32=7x4




Writing Length in Metres
and Centimetres

—

The length of the table is more than 1 metre.
What is the length of the table?




| )

o We use a tape measure to measure lengths longer than 1 metre.
-«

€

1 metre

Your teacher will show you
‘ an actual tape measure.
S

1m=100cm

|




e What is the length of the table?

The length of the table is 120 cm.

120ecm =100 cm + 20 cm
=1m20cm

The length of the table is 1 m 20 cm.




--------------------------------

What you need:

N o
® Tﬂk€ﬂ|_andcut10 L AN L = é
strips of paper.

Each piece should be about 12 cm long, with flaps at
both ends.

Work in groups of 4.

Mark out 10 cm on each paper strip.

©
(3) Punch a hole on each end of the strip.

01313 4 8878910

(&) Join the strips end to end with a -’l?“ through the holes.
Now you have a foldable ruler.
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(6) Guess the length of things around you in the classroom.
Use your foldable ruler to check your guess.




Guided Practice

o What is the length of the sharpener in centimetres? cm

] ]
How many of these make 1 metre? '
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Ocm 1 2 3 4 5 6 7 8 9 10

I

o What is the length of the toy minivan in metres and centimetres?

e Pem l_500cm o

How tall is
the minivan?
Let’s estimate.

o Arrange 6 books to form a long row on the floor.

The length of the books is I:l cm.

Itis ’—‘m ’fcm long.

What is the height of the tree in metres and
centimetres?

457 em = \_‘m Jcm




1.) Abigail's ruler is broken. 3.) Three children measwred the same toy car.
How could she use it to still measwre things?
Eva says that the caris 6 cm and 5 mm

2.) Paige thinks that this chew har is 4 cm long.

Is she. > Lainey says the caris 5 om

o 1] F ) 1) 41 5 &l rl 8l ol 10 m 12 13 141 151 161 LFa 18 191 0

Macey says the caris 4 cm 5 mm

Convince me. %

Whao is correct? Who is incorrect? Explain why.



1.) Abigail's ruler is broken. 3.) Three children measwred the same toy car.
How could she use it to still measwre things?
Eva says that the caris 6 cm and 5 mm

=l &l L 1 v 12 LR L 4 LE ] 4l LE] 18l LEd 18 W a0 ii i i E

She could start from a different numhber and,
count on to measuwre.

Lainey says the caris 5 cm

2.) Paige thinks that this chew har is 4 cm long.
Is she correct?

(Ll L L | L0 L
1 d 3 4 1 Ll 7

Conwince me. N
She is not correct hecause she has not R
placed, the chocolate bar at 0, she has put
it at the end. of the ruler

Whao is correct? Who is incorrect? Explain why.

Lainey is correct. The other two have not lined
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